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3)

a)
- 4213
35 2.5
COD 2 35
T-N T-P
7
-4.2.1.3
(ka/ )
(m3 ) COD T-N T-P
35 128,439 10,417 2,471 311
55 229,290 11,968 3,556 412
2 294,990 12,240 4,376 480
7 315,999 10,898 5,087 521
323,745 9,086 5,013 494
b)
-4.2.1.4
35 COD T-P
35
T-N
-4.2.1.4
(ka/ )
(mé3/s) COoD T-N T-P
35 41.7 20,323 7,635 332
55 42.6 21,472 8,414 408
2 43.1 21,666 9,058 458
7 43.2 20,349 9,565 487
43.1 19,034 9,624 469
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4.2.2

(1)
3.2.1
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( -4.2.1.11)
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(2)
2030

1)
(2001 )
2)
2000 ( 12 )
2030 ( 42 )
(2001 ) 2030
94.7 0.9% 95.2
(2001 )
(3)
1)
3.2.1
2001 ( 13 ) 1
2001 ( 13 ) 1 5
5
2)
3.2.3(B)
(4)

4.2.3(6)

511



4.2.3

(1)
1)
a)
- 4231
15m3/s 25m3/s
12)
& (] .r.'-ll
&
TR AR W e C
]
]
1|
[ ]
| (i)
ST R
B )
0 "
] LA O MO
n-u . Bno
-4.2.3.1
BOX1( ) BOX2( )
BOX4
-4.2.3.1
-4.2.3.1 (mg/L)
COD T-N T-P
2.0 1.44(0.1) 0.038(0.5)
4.1 2.73(0.2) 0.100(0.6)
T-N T-P ()
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BOX

-4.2.3.4 3

-4.234

14) 15)
16)
14) - 4232
BOX

-4,2.3.2 (g/m2/ )

COD T-N T-P

0.08 0.07(0.7) 0.006(0.3)
T-N T-P ()
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d)

BOX
0
( )
17)
25% 1.7% 75%
0.2% (0.25x 0.017+0.75
x 0.002)x 100 0.575%
( 106 16 1)
0.0359%
( 106 16 1) 32/12
2.66 COD 282.7
COD 10.158%
- 4.2.33
BOX
-4.2.3.3 (%)
Cob ( ) ( )
10.1583 0.5750 0.0359
e)
BOX
18)
19)
L=e Ps
L (COD N P) kg Ps

(COD 1338 N 824 P 15.8) kgl
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-4.2.3.6 4 20)
No. (mg/L)
COD T-N T-P 1)

1 6.4 8.17 0.16 348
2 5.2 6.28 0.08 292
3 6.2 3.87 0.6 199
4 5.9 3.78 1.06 138
5 6.4 22.2 2.43 244
6 9.3 12.9 11 244
7 28 90.3 1.64 244
8 10.5 14.9 0.18 244
9 7.4 2.1 0.96 244
10 7.4 2.1 0.96 244
11 7.4 2.1 0.96 244
12 12.3 13.2 0.5 244

No.5 12 No.1 4

No.9 10 No.11
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( - 4.2.3.12)2)

-4.2.3.12 27)
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BOD (54.0-18.7) (54.0+39.9+28.6+3.7) = 0.280 = 28

T-N (2.2-0.8) (2.2+1.2+0.9+0.3) = 0.304 = 30

T-P (0.5-0.2) (0.5+0.1+0.7+0.2) =0.200 =20
BOD COD
28 T-N 30 TP 20

-4.2.3.12

CoD

-4.2.3.13
-4.2.3.13
(%)
coD T-N T-P
(%) 36 28 30 20
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(6)

1)
a)
3.2.3(B) (
) ( ) ( ) ( )
BOX COD
-4.2.3.1 28) HSI
In(COD) 4.395-0.511(In(Tr)) (1979 1989 n 160) ( -4.23.1)
Tr (cm)
b)
1+2+3 HSI -4.2.3.11
(COD)
HSI HSI
HSI
HSI

A#

A D

0 - 011

1 - 02
0 - 03
03 - 04
08 - 05
05 - 08§
na-a?

a7 -04

e 18 - 014

HSI () HSI  ( )
-4.2.3.11 HSI

( 1+2+3 )
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2)

a)
HSI
1+2+3
1972 100m
29 HSI 1
100m
250m HSI
250m
HSI 0(ha)
HSI
1+2+3 - 4.2.3.15
1+2+3 93.7ha
-4.2.3.15 1+2+3 ( )
BOX 1( ) | 2( ) | 3( ) 4( )
(ha) 52.3 36.2 3.1 2.1
b)
1+2+3
BOX
- 4.2.3.16 1+2+3
BOX2 0.1mg/L BOX
0.05mg/L
-4.2.3.16 1+2+3 (COD)
BOX 1 2 3 4
1+2+3(mg/L) 3.15 | 3.29 | 2.88 | 3.03
(mg/L) 3.10 | 3.17 | 2.83 | 2.98
(mg/L) 0.05 0.11 0.05 0.05
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1)
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-4.24.1

46% - 100%(54% )
120 /| x 524 =6,300
( 100%) (H12 97 x 54 52.4
)
100% 11.16km?2
( 9,000 /m2
100% ) 11.16km2x 9,000 /m2=1,004.4
170 /m3 H12
75,000ms3
( 100%) | 170 /m3x 75,000m3=1,275
( 6,600 16,250 /ms3 1,300
m3) 16,250 x 6,600 m3=10, 725 ( 800 m3)
(
15m3/s) 1,900
21,192
6 /
( 30 1 1
100 ) 6 ! x 30 =180
(
100%)
(100
)
40 1 ( )=128.76x
5kg/day 1,000,000x%
( 100%) 180 (t/ )o-6528 30)
170 /m3 H12
75,000ms3
( 100%) | 170 /m3x 75,000m3=1,275
1,635
50 /ha
(14.9km?) ?OOO /km2x (14.9 km2-0.12km?2)
=7.4
(3,000 )
1,500 /ha
(10 1kmz2) | 1,500 /hax 1km2x 10=150

157
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-4.2.4.2(2)

13 800 m3 72
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34)
11
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35)
2004 3 36)
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1+2+3 2030
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2030 100%
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2010 50% 2020
100%
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2001 2010 2020 2030
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om’s | 15m%s | 15m°s
30% 70% 100%
1,000t 2,000t 3,000t
-4243 2010 2020
3.2.1 13 1
13 1 5
5
(BOX1) (BOX2)
(BOX3) (BOX5) - 4242
2030
COoD 3.0mg/L 4
40 (COD5mg/L) 2020
BOX
10.0
80 ¢
_I S= -
?é': 6.0 =
[m) L
8 4.0
20 -
0.0
2001 2010 2020 2030
—aA—BOX1 —=—BOX2
---0--BOX3 —e—BOX5
-4.242
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4.2.5

-4.2.3.10

10) 38)

A COD
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